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18| H 0 9 12 11 0 15 0 47
28| A 37 10 0 11 0 57 0 115
38| K 43 9 1 10 0 56 0 119
48| K 28 8 1 11 0 69 2 119
5| K 34 8 1 11 0 60 1 115
68| % 45 8 1 11 0 64 0 129
78| * 0 8 7 9 0 17 0 41
8H| H 0 10 9 12 0 14 0 45
98| A 0 11 14 11 0 17 0 53
10B| X 43 9 2 10 0 57 1 122
Al XK 31 8 1 12 0 66 1 119
12| K 38 8 1 13 0 51 0 111
138 € 45 7 1 11 0 67 2 133
148 =% 0 8 6 9 0 15 0 38
158 H 0 9 9 11 0 14 1 44
168 A 43 9 0 11 0 56 1 120
178 X 41 9 0 12 0 53 1 116
188 K 37 8 2 12 0 56 0 115
198 K 34 8 0 12 0 67 1 122
208| = 42 10 0 10 0 59 1 122
218| * 0 8 8 10 0 19 0 45
228| H 0 9 13 13 0 17 0 52
238| A 40 10 0 10 0 59 1 120
24H| X 44 8 0 10 0 65 2 129
25H| K 31 8 0 11 0 7 1 122
268| K 37 9 2 11 0 62 1 122
278 % 47 9 1 8 0 62 0 127
288 £ 9 5 11 0 20 1 46
298| H 0 10 9 12 0 12 0 43
308| A 47 11 2 10 0 73 2 145
318 X 40 9 2 10 0 60 2 123

& &t 827 274 110 336 0 1,450 22 3,019
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18| X 28 9 1 12 0 60 0 110
28| K 50 9 1 10 0 63 1 134
3@ = 0 9 9 10 0 24 1 53
48| =+ 0 9 7 10 0 20 1 47
58| H 0 10 9 11 0 14 1 45
68| A 47 10 1 10 0 55 0 123
=1 31 10 2 10 0 55 2 110
8H| K 29 10 0 12 0 59 1 111
98| K 41 10 2 11 0 56 2 122
108 % 44 7 2 11 0 59 0 123
el =* 0 10 7 11 0 11 1 40
128| H 0 10 13 11 0 18 0 52
138 A 39 10 1 9 0 63 1 123
148 X 44 9 1 12 0 60 0 126
158 K 31 10 1 14 0 63 2 121
168 K 35 10 2 12 0 55 1 115
178 £ 38 10 1 8 0 56 0 113
18| =% 0 9 8 11 0 19 1 48
198| H 0 11 9 13 0 15 0 48
208| A 43 10 0 12 0 67 1 133
218 X 38 10 1 11 0 79 1 140
228 K 22 11 1 12 0 63 1 110
238| K 0 11 11 11 0 17 1 51
248 % 46 10 1 11 0 68 0 136
258 * 10 8 13 0 19 0 50
268| H 0 11 11 14 0 11 1 48
278| A 44 11 1 12 0 61 1 130
288 % 44 10 2 11 0 59 2 128
29H| K 34 11 1 12 0 67 1 126
30A| K 37 10 0 13 0 61 1 122

= 765 297 114 340 0| 1,397 25 2,938




